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Results and conclusions on the following pages
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y= SinX Parent Function
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y = asinx
l a\= Amplitude (Vertical Stretch Factor)

Can you have a negative Amplitude?
No, since amplitude is a distance, it can't be negative.

If a<0 then there is an x-axis reflection.
Upside down
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This is the Parent Function




y = sin2x Period = Q—rr _ I y = sindx Period = ZT T

v b = -
Y 3+ q 2_

)

v, 4

e/ F N 7 /\/\/\
A W i\/\/\/\/

y=sinx2 = Sm(tx) Period= 27t
% i T - 41‘[‘ y= sinbx

5 =2X 2.

o Period = ZTTC

I |




Find the amplitude and period for each Sine Function: The Parent Function: y= Sinx
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Sketch one period of the graph of

y - aSIan y=38in4x Label the coordinates of all x-intercepts, minimums, and maximums.
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When a<0 there is an x-axis reflection (upside down)
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Sketch one period of the graph of erpde, B _
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Label the coordinates of all x-intercepts, minimums, and maximums.
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